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=a® + 2ab + b?

@ (a+b)?

=a® — 2ab + b?

@ (a-b)?

a2_b2

® (a+b)(a-b)

@ (a-b)(a®+ab+b?) =a®-b>

® (a+b)(a®>-ab+b*) =da®+b?



2.

43 +d= (2 +x+2)( P +ax+b) L W, A ab
Ssteler.
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3. FudHA BA U A+B=-x>-2x>+4x+5,2A-B =
43 = x> —x+1 € |, F o434 A, B & o1H?

D A=x4+x>4+x+2, B=-2x>-3x>+3x+3
@ A=x>-x24+x+2, B=-2x>-x24+3x+3
@ A=x3-x>4x-2, B=-2x3—x>+3x+7
@ A=x>-x>-x+2, B=-2x>-x>+5x+3

® A=3x>-3x24+3x+6, B=—-4x3+x2+x-1



S 44 a9 bol totol ohg % ket Ale] AjBokavt c- 29 ),
a+ b9 27

X2 +ax—6, X>—ax+b




E% Al A~ 5 =
m+aa-r(xoﬂ \’4121:4 4 X_2007+1 =ag+ai(x+4)+ax(x+4)?+
2007 (x+4) ol AT W, ag+a; +as+- - +aseor & B2?
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